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Q.1. solve any four [20] .

"1) A={a,b} , B={c,d},C={e,f,g} then find 1]AX(BUC) 2] (AXB)U({AXC)

2) Solve the recurrence relation a,.2a,;,—a,; forn=>3anda;=0, a;=2

3) Determine whether R is an equivalence relation on A = {1,2,3,4}

R={(1,1),(1,2) (2,1) (2,2),(3,4) ,(4,3) ,(3,3),(4,4) }

4)Check whether the following relation is : a] Reflexive b] Symmetric c] Transitive

X: Set of all integers Z. ,R: foralla, b €Z ,R,iff 2a + b is divisible by 3

5) Let A={1. 2, 3}Find S(n, k) for 1<k <3

6) X: Set of all integers Z ,R: foralla, b €2 ,R,iff 2a + b is divisible by 3. Check whether it is equivalence relation
7) Solve the recurrence relation a,-3a,,~2a,, forn>3anda;=1,a,=3

8) Check whether the following relation is : a] Reflexive b] Symmetric c] Transitive ,X: Set of all integers Z.R: foralla, b
€ Z ,Riff a- bis divisitls by 4,

Q.2. solve any two : [20]
1) Find the product of following: 1] (2 1)(53)(341)(145) 2] (3412)(35)(14 3)(54 1)

2) Evaluate the mulrtinomial numbers: 1] (5 172 5 )2] (8 133 1)

'3) Find the inverse of foilowing function1] (1 3)(1 2)(15)(14) 2] (231)(43)(251)
4) Write down following cyclic permutation in complete form ard state the partitioned of (1 2453) and also write
following partitioned (1)(2){3){6) in permutation form.

Q.3. solve any two [20]

1)Find the multiplicity of each root of , f(x)= x*-x>-3x*+5x-2

2) By dividing f(x) by g(x) find the Quotient and remainder f(x) =x"-13x*+36 and g(x) = X +x-6
3)Find modulus ,amplitude and polar representation of z =-2 -2i

4) Find g.c.d of following pair of ponrjomials: f(x) =x>-1 and glx) = X+2x%+4x+21

Q.4. solve any three [15]

1) Find the inverse of following: (2134)(53)(341)(154)

2) find the remainder of x*-3x*+4x+8 and x> +2

" 3)Find the product of following function : (3 1){2 1)(5 1){4 1)

) R:foralla; b €Z ,Ryiff a- bisdivisible by 2 show that it is antisymmetric and transitive
)

)

~

5) Solve each of the foilowing recurrence: a,-3a,_;- Za,.,, n>3,a,=5, a,=7
6)Find the product of following function : (1 3 2)(3 4){(15 2)



